
Kanyasulkam By Gurajada Apparao
1.  Gurajada Apparao belongs to ---.
(a) Vizia Nagaram  (b) Visakha Patnam  (c) Vijayawada  (d) Thirupati.
2.  Girisam wants to run away from Vizia Nagaram because ---.
(a) he took 20 rupees from the boarding house woman.
(b) he spenbt the money given by the boarding hous woman on dancing girls.
(c) he wants to run away from Madhura Vani.
(d) he wants to learn sastras from Agnihotravadhanulu.
3.  Which of the following statements about the boarding house woman is wrong?
(a) She gave money to Girisam often with love.
(b) She was angry with Girisam because he spent the money on dancing girls.
(c) She was afraid of Girisam.
(d) She wanted Girisam to leave Vizia Nagaram.
4. Which of the following is not the cause for Giorisam to run away from Vizianagaram?
(a) His fight with the boarding house woman  (b) HIs debts in Vizianagaram  (c) HIs love letter to the daughter of Venku Pantulu  (d) His love Madhura Vani.
5.  Which of the following is an illusion of Madhura Vani in relation to Girisam?
(a) He is rich.
(b)He can get a good job.
(c) He loved her deep.
(d) He would marry her.
6.  Why did Girisam want to go with Venkatesam to his village?
(a) To teach him English.
(b) To marry his sister.
(c) To learn Sanskrit from Venkatesam's father.
(d) To get food and shelter for free.
7.  Which of the following did Venkatesam learn from Girisam?
(a) Speaking in English  (b) Chanting Sanskrit mantras  (c) Smoking Cigars  (d) Writing love letters.


8.  In Puna Girisam lectured on the subject of ---.
(a) India's freedom  (b) Widow marriage  (c) Child marriage  (d) Need for English education.
9.  Which of the following advantages are counted by Girism in relation to tobacco? Choose your answer based on the codes.
1) Whites became great because they somke.
2) Tobacco plant was born out of the nectar.
3) Tobacco makes us wise.
4) White men invented many things only because they smoke.
(a) 1 and 2 are right  (b) 2 and 4 are wrong  (c) Only 4 is right (d) Only 3 is wrong.
 
